
01

PARTS INCLUDED
1PC   Applicat ion-Specif ic Mount ing Bracket
1PC   7.5 oz Aluminum Baffled Oil Catch Can 
4PC   Worm Gear Clamps
2PC   Direct -Fit  Oil-Resistant  Hoses
2PC   CNC-Machined Aluminum 1/2" Barbed Fit t ings
          Mount ing Hardware

TOOLS NEEDED
7mm Socket  
10mm Socket
13mm Socket
17mm Wrench
3/8" Drive Ratchet
Pick Tool
2.5mm Allen Key
Pliers

INSTALL TIME   1 1/2 Hours

INSTALL DIFFICULTY

DISCLAIMER

- Allow vehicle to cool completely pr ior to
   at tempt ing installat ion.

- Mishimoto is not  responsible for any vehicle
   damage or personal injury due to installat ion
   errors, m isuse, or removal of Mishimoto products.

- Mishimoto suggests that  a t rained professional
   install all Mishimoto products.

INSTALL PROCEDURE
1. Remove the bolts that secure the engine cover 

and lift it off the engine. (2x 10mm bolts) 
2. Use pliers to disconnect both ends of the PCV 

hose to remove it. Use a pick tool if needed to pry 
loose the hose connections.

 

3. Release the tab on the clip that holds the PCV 
hose. Then remove the hose from the engine bay.

4. Feed the longer hose under the intake and 
connect it to the PCV valve housing. 
(1x worm gear clamp) 

5. Install the smaller hose to the intake port. 
(1x worm gear clamp)

CONTINUED ON FOLLOWING PAGE

MISHIMOTO  |   18 BOULDEN CIRCLE, NEW CASTLE, DE 19720  |   P 1.877.GOMISHI  |   WWW.MISHIMOTO.COM

2019+ DODGE RAM 1500 5.7L 
BAFFLED OIL CATCH CAN
PARTS LIST &  INSTALLATION GUIDE



02

6. Remove the bolt that secures the fan shroud. 
(1x 13mm bolt)

7. Install your catch can bracket using the provided 
hardware. Place the spacer on the back side of 
the bracket so it?s positioned between the bracket 
and fan shroud. (1x 13mm bolt and spacer)

8. Install the additional bracket piece to the back of 
the catch can bracket. (1x 10mm bolt) 

9. Attach the fitt ings to the catch can. Snug them 
down with a 17mm wrench. 

10. Install the catch can to the bracket. 
(3x 2.5mm Allen bolts) 

11. Connect the longer hose to the inlet port on the 
catch can. (1x worm gear clamp)
 

12. Connect the shorter hose to the outlet port on 
the catch can. (1x worm gear clamp)

13. Reinstall the engine cover. (2x 10mm bolts)

  
Congrat ulat ions! You have f in ished 
inst all ing t he Mishim ot o 2019+ Dodge 
Ram  1500 5.7L Baf f led Oil Cat ch Can.

MISHIMOTO  |   18 BOULDEN CIRCLE, NEW CASTLE, DE 19720  |   P 1.877.GOMISHI  |   WWW.MISHIMOTO.COM

2019+ DODGE RAM 1500 5.7L 
BAFFLED OIL CATCH CAN
INSTALLATION GUIDE


